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3 Finte Range: Ry= {(1,2,... K)

- Homo:)encoo.s‘ Pl X;., = k| X+=J] = B for ol t=0,1,2..
* Recall that the PR are the fransition probabilities:

the probability of going From stete 5 to state ) (in one step).
* Non= Negotivity: Ry 20 ~ Normolization > R = |

- n—s‘l'e,’: transition probabilities lP[X++n= k| X, = J] = %k(n)

Can be ’Foumll \LS'IY\A P\.‘k(n‘\' m) = i %;(n) P;k(m)
with %k(‘) = %k- -
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* The state transition modrix ( or Transition PPOEA‘DEI;'I'Y mafri x ) P
15 oo K*K marix whose (J,k)*“ e,h-}ry is %k.
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* The n-s+e|= stite transition madrix (or‘ n-s'l‘e,[: tronsition Pro‘oabili'l‘\,
Mm‘h‘ix) P(n) s oo KxK matrix wl\ose, ("),k)‘rh e,n+r7 'S %k(n),

P(w) = [Pln) Pal) = Ru(=) ] | =
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we use,& the Ckapmw-ko%ooorov e«lu\ad'ioﬂs.

. In“'u.'\""tue\y, we afe du;s"' +rouoki.:3 how Probo.bih‘hes “‘How" from
current  stoles 'H\Pouug\ all Possﬂale. Po:H\s b the next shate.




* The .s‘l'oi"e, Prob«bilih, veclor oCl' time 7 P+ 1S o ‘CV\SH\' K
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e We can delermine how P+ changes .;n one s'l’ef us-'r:s the
5 transition Pr‘oka.bik"';&i P,,H'(k) =) PN(J) RPe , or
JSI
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¢ We coan defermine how P+ c\nouae,s in N Ks‘}e)as using the
= n-sfep transition  probabilities P, (k) = Z B, (3) Beln
- n- S‘}e,) transition Pro\ao&ili{\, motrix Pteon = (P(n))TP*
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